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gboobobobobooooboboboooobobuobidden=200000000000
uboboobOobooooboboon

260 (0000 10000). 200000 ADODODODOOOO AeROOOOOODOOOOOO
AOOOO XD
A—AI=0

uboboobooooooobooooboobooooooboo

Vo = <1:1> o Az =Xz (2.14)

T2
O0000000000000 R20O0D00D0OD000 AOODODOOODODOOODOODODDO
000000 R20O0D0O0O00000D0O000 22000000 ADDODOOOOODOOOO

00
A— A #0

goooooo
dim{Ker (A—XI)} =1

000000000000 10000000000000000000D0 R20000000000
gbooobOobooooobooboz240000000000000000OO0.
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oboo0o 0ooobooooooobooooobooboobooooobooooboooooboon
0000000000000 0000000000000000 (000 vé¢Ker(A—XI))ODO
oo

vy = (A= A)v (2.15)
Vg =0 (2.16)

0000000000 v 00000000000
0000 2.7. 0
(1) (A-AN20000000000000.

(2) v, 0 R200000000000.

0000 27000000000
(A= Xvy = (A—=X)*v=0
D000y 0A0D00O0D0O0O00OO0O0000
Avy = v (2.17)

000000000000 (215)0 (2.16)0(2.17) 000000

Avlz)\vl
Avy = v1 + Avg
oood
Al
A(vi v2) = (v v 2.18
(v1 v2) (12)<O A) (2.18)

ooooooboooooon
P:(Ul ’UQ)E.R,QX2

0000 POODOOOOOO POOOO (2.18) 0
A1
PlAP =
0 A

270 (00D0O0O000O0ODO). OO0 oOUDOODOOO0OULO0OUDODDOODOOUOOOUOO
0000000000 det(A—A)=0000000000000000O

oooooooo

A =p+iv (2.19)
)\2 = U — w

000000000000:00000 (i2=1),x00v00000v#00000000 Az= Mz
0000 zeC?00000000000

T =u+iw (2.20)
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000000000 Az=Xz 0000 zeC?0000000000
Tr=u—1iw

0000000000000000000w00 wD RRPOODOOOw#00000
(2.19) 00 (2.20) 000
Az = Mz & A(u+ iw) = (u+ i) (u + w)
& Au+ i1Aw = pu — vw + i(pw + vu)

goo

Au = pu — vw (2.21)
Aw = pw + vu (2.22)
Oo0o0o00. x=p—iv, z=u—iwldO00 Az =X 00000,00000000.

ggd
P = (uw) € R**?

D000 POCOOODDO(221)0 (2.22) 0
}rJAP::<" V) (2.23)
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00000000 e (0,7 0000
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po vy _ [pcosf —psinf
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-7 sinf  cosf

OO00000000DOb000oDe00DO0OO0 pO00DbDOOOO0ODODOOODODOO

25 000002000
2.,5.1 2000
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227 00. mOnO0O0O0 Ae R™*"0O000000O F:R"xR*"— RO
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00000000000 FOOOUOO (0D 1000)000000000000000 F:R™xR™ —
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n n
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oooood
gb:00000b00boooobooocobooboog.
00:1,20 A0000DOO0O0OODOOOOODOOOOODODOO.
ob:3,400000000000000000DO00O0O00ODO0ODO:
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1

ub:0000000b00000boooooa:
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ooo,
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3 ggg

3.1 00ooooon
3.1.1 OO00doooooobo
gboooboooboobuoobuooboobobobobobobooa
3100 (00O0). RPO0O0O0OO COOOO
VeeC,de>0,Vye R": ||:cfy”<e = yel

gooooOOobcobobooooboooo
3200 (000). R"OOOODO COOOOOCOOOO

CC:{QSER”’@"¢C}
gooooobooobocoooboooogoooo
3.100 (0oo).

CO000 &«veeCV2O00O0000O (x,) INVR>N:2,€C.

3.200 (DO0).

COD000 &VeeR"Y20000000 (2,) Vn:2,cCO00 z€C.

ooo0o0O 3.1. 000031000 3100000 32000 320000000000000A0

googobooon,

Ub0 «00oogn
ubb sdguboobaobbaboo

gbooboodabooobaoboobgooban.

3300 (0D0DO0O). 00D cCcooOUooo
Ve,ye C,Vte[0,1]: te+(1—-t)yeC

oooooOoocUooUoUoUOoOOOo. D0ooooo,ve,yeCOOOO,00 [z,y]0 CO0OO
goooooboooo.

3.1.2 00000

3400 (00O0). cOODOUDODOODUOOCUOODOOOUOOO F:C—ROOOO
Vo,ye C,Vte[0,1]: F(tx+ (1 —t)y) <tF(z)+ (1 -t)F(y)

goooboooorFrO000D0O000O0DOO0
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3500 (0O0). CcoODOUOOOOCOOUOODOOOUOO F:C—ROUOOO,-FOOOO
goog,ogoon

Ve,ye C, ¥t e [0,1]: F(tzx+ (1—1t)y) > tF(z) + (1 —t)F(y)
ooooooobfrFOO0ObDOODbDODDO

oooooobooboo0oooo 34000 350000000000000000O0O0ODDOOOOO
gboboobooboobooboobooooobooooboooooooboooboooboooboooboooboooonag
obooooOoboooooboboooooo

3.300.cO000DOOOO0O0OoCcoooooooooDooDO0U0 F:C—ROODO0O FOOO
gooooOoboooooaon

VeeC,Vhe R": F(x+h) > F(x)+VF(z)-h (3.1)
googood

0000 3.2.003300000. (D00:000000OO0O0OODOUOOOOOY)

0000 3.3. 0000000000 F:RY— ROOO,FOOOODOOOOOze REOOO
ye REOODOOF(y) > F(z)+VF(z)(y—2)000000000

3.3000000 (3.1) 0
F(z+h)—{F(z)+ VF(z)-h} >0
0000000000000000000000

F(z+h) = F(z) + VF(@)-h+ ATV’ F@)h + Ro(hiz) 000 i 220)

22V
h=0  |[h|]?

0ooooooo (3.1)0
h"V2F(z)h + Ry(h;z) >0 (3.2)

gbooobooboobg2000b000b0o0boobobobobbooboon

(ﬁmh>TV2F@0<m%h>*'Rmﬁfg:>&

O,h=tv,|v|=100,t—00000,000 v V2F(z)v>000000. 000 h—0000
D00000ARTV2F(2)h 000 Re(h;2) 0000000000000 00000(3.2)00000
ogooodo2000000a0

UTV2F(x)v20

gooobooooon
oboooooboooobooboooooboooooon.

3400.CO000D0O000O0DOCOODO0DOOD 20000000000 F:C—-ROO0OO
1. FOooOoo
2.0002x€CO0000 FOODODODDO V2F(z)000000D0O

ugbooaooad
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0000 3.4. 0000000000 F:RY— ROOD,FO02000000000000000
00 zeRFO000V?F(z)0000000000000000

ob0330003400000000000O00bO0O0oOo0obOobobOobDOobbOoooDbOoon

3.500.CO0000000O0O0OCOOOO0O0OOOOOOOOOOO F:C—-ROOOOOFOO
oboooooboooooobooon

VeeC,Vhe R": F(x+h)<F(z)+VF(z)-h
googood
3.600.CO00DOO0O0O0ODOCOOO0ODOD 20000000000 F:C—-ROO0O0O
1. FOOOO
2. 000 2ze€CO000 FOOODOOO V2F(z) 0000000

ooooooo

3.1.3 ODO0OO0O0O0OO0DOO

oboboooboobooboobooobooboooboobOoobOobOOobOOobOobOboOoOoobooooobooooon
gooobooboooobobooooobobooooooDo

3600 (0OODO). COOOOOUOOCUOOOOOOOOO F:C—RODOOO
Vo,y € C,Vt€[0,1]:  F(tz+ (1—t)y) < maz{F(z),F(y)}

O000000FO0D0O0O (quasi-convex function) 0000000

Ooo000 3.5. FOOOOOOO,000000O00000D.

3700 (DO0OO). cOoOoOoUOODOoOCOOOUOO0OOOO0 F:C—-ROOOO,-FOOO
gooooa,ogo

Vo,y e C,Vte[0,1]:  F(tz+ (1 —t)y) > min{F(z), F(y)}
O000000FO0000 (quasi-concave function) 0000000
3.700.cCcoO00000O0OCOO0O0000000F:C—-RO0O00O

1. FOOOOO OO
2.VzeR: O{zeC|F(z)<-} 0000
goooooo
3.800.cOoO0opooooocCcoooooooo0 F:C—-ROODOO
1. FODOOO

2.VzeR: {ze€C|F(x)>2} 0000
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000000000 G:R—-RO0O0O0OOOODODOODODODO GoF:C—-ROOOOOOOOO
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goog 3.6. gpoobooooa
F(xy1,22) = {1252, o, ag >0
goooboooboobooobooobooo
o) +a <1
googbooboobooboboobooboobooon

oooocoooooooooo.

3J1o000.CO00O0OogooocCcoooooooon F:C—-ROOOOOFOOOODODOODO

oooooooogo
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oooood
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00000000000 (VF(z)0000000 (VF(z)" 0000000 3100000 (3.3)

0000000000 V2F(z) 0 (VF(z)* 000000000000000000.9
3.1100.cCcOO00o0oooocCcoooooooog F:C—-ROOODO

1. FOOOOO
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3.100.0
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good

3900 (00). ac RNODbe RNOOO0OOe-b400000000000000
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b 2 2 a;
= wTA/—F(x/'aJ—ijx/'ai)a] (310)
j=1

aj-x' <000 ’wjZo,jz1,2,...J—1DDDDDDDDDDDDDDD
A’x’ERi_l o0 b'2' <0

ooooooboooo
J-1

/ /
z'-b ' a;
/ _E:wj / >0
X -aj —) X -ayj
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0000000 (31000000

J—1
z' b z' - a,
wy = _E:wj /
T -ayj —) T -ayj
j=

ooad
w1

w2

wj—1

wy
UO000000000 20000000000

b w' A" +wyay
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O000000000ACOODOOD 1000000000000000000000000b" 0
0O AD000D0
bV =w'A

D000 weR,'00000000 ADDDDOODOD1000000000000000000
000000 A0O0O 2000000
A7 e RI™! (3.11)

b'T <0 (3.12)

0000zeRNOOOOOOOOOODO
O000Z0 ;002 000000020000

AzeR] 00 b'z<0

00000AODDDOOD200000000000000000000000004@,,5=1,2,...J—
1000000

AIANeR: Gj=a;+Aay (3.13)
a2’ =0 (3.14)
ANER: b =b +\ay (3.15)
b2 =0 (3.16)
000000000z0000
NeER: =T+ (3.17)
ay-x=0 (3.18)
0000000000(3.13)0 (3.18)000
a; - T=0a; T (3.19)
00 (3.14)0 (3.17)0(3.11) 000
G x=a; >0 (3.20)
00000000(3.19)0 (3.200000000
aj-x>0 j=1,2,...J—-1 (3.21)
000000000 (3.18)0 (3.21)00
A:zcER;]r
00000003150 (3.18)000
b oz =0 -z (3.22)
00 (3.16)0 (3.17)0(3.12) 00O
bz =b"-T<0 (3.23)
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3.22 0O000O0O0OO

O00o00000=000000000,00000000008 4a;,j=1,2,...,J0000000
ooooooobooooboOoosbbObOO0O0ODOOO00ODDODOO0ODOO0OODOOODODOOOOD
gboboobOobooooobooooboobooooobooooboboooooboooono

3.13 00 (DDDDDDD). R¥NOOOOOOOOO cooo RNO CcOoOOoOoOoOoOOOO
be RN\ COOOO
VeeC: xz-¢c>d>x-b

O000zeRNOOde ROOOOOO

0000 3.9.0031300000000000000000000O0ODOOOOO(=00000
o0ooooooooooog.)

3.1400. 00 Ae R*NOOoo
1. 3ze RL\{0}: 2TA=0
N . J
2. dz e RY : Aﬂz:ERJr+
02000000000000000000

goog 3.10. 00314000000 1000 200000000000000000000¢0O

3.1400000. 0000 3.10000000000bOO0000obOoo0oo0oobooOoo0ooooOoboOooon
00000 10000000000 200000000000000000000000 R/00
googdeld

0000000000000 AO
A= (A,e) e R7*NHD

000000000000 10
2zTA=(0,0,...,0,1)
——
N

oo zeRiDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
00 1gooooooooaao
A7 e R] (3.24)

(0,0,...,0,1)F <0 (3.25)

0000ze RN O00O0D0000DODO

T = v €ER"
TN+1
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OzeRNDODODOO

Ai = e °
TN+1
= Az +zxzniie (326)

gooooooono (3.25)|:||:||]
xn+1 = (0,0,...,0,1)T <0

00000 (3.26)00

A7 < Az
goooooooo (3.24)|:||:||:||:||:||:| AxERi+DDDDDD 20000000000000
oo O

.40 0 0000000000000 10000000000000
ATz=0

0000000 000000000 :000000000DOO000DODO00DOOO0ODOOOO
oo0ooooOo,A00D0Q0O00O0O0OO000ODOOO00O0ODO,0DO0000DOOooOoooooOoon
0000000ooooo0o00o0o0000oo0 100o0oDoooo00oooooooooDooDO
oooooooooooo
ooooo 20
ap-z>0, ag-x >0, ... ,a5-z>0

00z RNO00OODOODDOOOOOOODOOOD ADDOOOOOOOODOOOOOO 90
000000000 2000000000000000000000000 RNOOOOOOO0O
gbobooobooboobooooooooooooboooooooobooooobooboobooboooboooba
gooooOoOoOoOoOooooO,0C0oooOoODoOO0,AQOOOODODOOO0OOO0OOOOOODOOn,
obooobOoboo,00ocobooooboboooooboooooooon.

3.3 ODuoooboodg

IOMONOOODOOOODOOODOOOOOOODOO0OOODOOR:EODDODOOD XONOOODO
00 fu: X > R(n=12..,N)0OO MOOOOO g : X - R(m=1,2,...,M)00
(X7f13f27'"7fN7gl,92,"'agM)I:ll:lDDDDDD?

max (f1(z), fa(z),..., fn(2))
rzeX

subject to  g1(x) > 0,
g92(z) = 0, (3.27)

gum(z) > 0.
OO0000o0000DOb00b0D «:*eXODOOOODOOOOODOOOO
Ym: gm(x) >0,
Vi fa(z) > fu(z®),
o fulz) > fulz”)
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OO00DxeXOOOOOOOO:x000000D0OCO0O0DOOOODOOODOODODDOOO XO
ocooooof,00¢,000000000000O0O0O00O0O0DOOOO

3.3.1 0OOO0OO0OO0ODOO0OO0OO0

31500 (000000000 O000). «*eXO00DO00DO0DODO0O (327000000000
N+MOOODOOOOOOOO0O0O00 (u1,H2,-- -5 BN M, A Ar) € RYTM 00O O

L. 1, N, A1,..., Ay 000000000 1000000,

2.Vm: gp(@*) >0 = X\, =0

N M
3. DV fale) + 3 A Vgm(a®) = 0.
n=1 m=1

g30b0o0ooooooood

3.15,00000(0000). 000 MOODOUOODOODOUOODOO00O00 (gm(z*)=0)00
0000000000000 (gn(z*)>0)00000000000000O00O0OO0OOODOOODO
00000000000000 K(«M)ODOOOOOOoOoOOOooOOoUOOoOoOoooOoooooooo
obooooooooooon

n Vin(z*) - v>0
Vm<K: Vgup(z*)-v>0

O0000000veRFODDODODODODOOOOOOOOOOOOOOOOOOO
ooOooooo
Vfi(x*)

VfN(CE*)

= RN+K
vgl (ZL'*) ++

VgK(a:*
000000veRFO0D0O0000DO0O0O0O0O0OOOO3.1400000

Vfl (l‘*)

Vf]v(l‘*)

(:ula"'nU/Na)‘la-'w)\K)
Vgl(x*)

VgK(:E*
good

N K
Z pnV fr () + Z AV gm(x*) =0
n=1 m=1

00000000 (1, H2, .- ins A1, A2y, A) € RYTEN {0} 000000
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0o0o00oOooboo0D0D M-KOOOd
A =0, m>K

0000 N+MOODOOO (1, s ins My -+ - Ak Ak, -, An) € RYTE 0000000
N+MODOODOODOOOODOO 3.1500000000000000000000000 O

3.100.00000000DO0D0000DOpOO0 NOOOOODODOOODDOOO

000000 (p,..., 48, A1,-.-,2) 0 3150000000000000000000000
O¢t>00000 (fp1,...,tun,tA1,...,tAy) 0000000000000000000000
(11, N, A, ...,Ay) 000 00000000000000000 100000000000
00000000000 i =100000000000000000000000000000
1 #£00000000000000000000 p;=1000000000000 100

0000 3.1500000000000 20000 LOOpO0O00O0NDOOADODOD KOOO
00000000000 00000000000000000000000 L+N+K—-1000
000000000000

N K
> Vi) + D AnVgm(z*) =0
n=1 m=1

oooo Lon

o000 Koooobooooo L+ KOOOoOooooooooooo N—-10000D00000
gooooooooobooboboooobooboobooooboo

3.16 00 (000000000000). 000000000 (3.27)00000X00000f,0
00000¢,000000000000002*€ X 00 (41,--, i, Ms- -5 An) € RYTM 0D
0o

1. Vm:  gm(a*) >0;
2. (.o vy ALy ) € RY

3.Vm: gn(z*)>0 = A\, =0;

W

N M
. Z,uann(z*) + Z AV gm (z*) = 0.
n=1 m=1

000000000«z*000 (327y000oooo

31600000 (0000). 00 MOOODOOOOO0000000000 (gm(z*)=0)000
0000000000 (gn(+*) >0 0000000000000000000000000000

Vopoooooo 2200000
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00000000000 K(«M)OUOOOOOOOOOOOOOOOOoOoOOoooOoooooooo
dooobooobooboobouobUdz-*obooboobuoboba
vn Vin(z*)-v>0
In : Vin(z*)-v>0
Vm<K: Vggp(z*) v>0

00000000veRFOOOOOOOODODODOD 1000 200003000

N M
Zuann(m*) “v+ Z AmVgm (™) -v >0
n=1

m=1

obooooOoboooooboobooonog

N M
(Z pnV (™) + Z )\ngm(x*)> " v
n=1 m=1

Oo000o0O0004000000000z*00000DDOOO O

oobo0o 3.11. 0000000000000 DO0OO03.16000000002000300000
gbooobooooboooo

lebobooboooooooogoooboboboobobooooooooooooboobobon
gbogbobobobobobobobooboboboboobooooooooboboboboooon
gbobooboboooobooboooog

310.0000000000000D2000000000000000O0DO0OO0ODOODOOO
goobooboobon u:R2+—>RD

u(xy,xe) = (w1 + 1) (22 + 1)

gobooO0oobooooooobooooooobog py,p 000 wOO0O0OO0O000000D000

ma. r1+1) (e +1
Ielé (z1+1)(z2+1)
subject to w — P12 — paxa > 0. (3.28)

D000000000000000 R200000000000000000000000000
00D00000000000000000000000 X={cxeR?|a;>-1,22>-1}000
0000000 2, >00 2,>0000000000000000

max (z1+1) (22 +1)
subject to w — p1x, — paxs > 0,
1 2 07
29 > 0. (3.29)

0000000000000 000000000oDO (3.299 00000000000 (328000
gbooobOoooooobooboooobobooooobobooooboobooo

lb0oobbooobooobooboobooboboooboooboobboOooboOoooboooDn
obboobOoboooboobooooobooooobooooboooooboooobOoobooooboOooDn
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3.20.3100000000000000000000200000000000000000C
oboooooboooobobooboooboobobooboooDo u:Ri—>RD

u(xth) = \/‘E—'_ \/‘E

oo ood pr,pei0 00 wdOOOOOOOoooong
oo

max u(zy, xe) = V21 + /22

zeR?

subject to w — p1T1 — paxa > 0. (3.30)

gbooooooooboobobd RiDDDDDDDDDDDDDDDDDDDDDDDDDDDD
gbooobOobooooobooooooboooooono

%(xl,xg) —o00 (z1—0)

8;101
ou

—(z1,22) > 0 (22 —0)

3x2

0000002 = (23,2}) 000000000 ¢} >000 ¢} >000000 2* € R, 0000
go0ooo0ooooooooobooooao Ri+DDDDDDDDDDDD

max u(zy, x2) = V21 + /22

T€R3 |

subject to w — p1x1 — pare > 0. (3.31)

000000000 (330)00000000000000O00O0O0UD (3.3)0UooUooooooo
gboboobobooobooboooobooboooooboooon

100 3200000000000000000DOO0O0O00DOOOOODOOOOOOOOOOn
ooooooboooooboon

330.0000000000000020000000000LO0O0O0O0DOOO0OOOO0OODOOO
0000000000000000 10000 w(>0000000000 u:Ri—>R[I

1
2 T2

u(zy,z2) = xie

oobooobooobooboooboooboooobooooooooooooooooboooooooog
ooo

ma u(z
QUGR)?(F ( )
subject to w—x1 — X9 > 0. (3.32)

googo

goano 3.12.x€R2+EIDDDDDDD (3.32)0000000«x, 0000000000000
ooo

0000 3120000000000000 {z€R?|2;>0,2,>0} 00000000000
00000000000000
000000000000 «00000000000

X:{xGRQ}:c1>O}
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Jdddddddddoddd e ddd0fd s e ROODOOOOOOOODOODDOOODODODO X
goooooobooobouobog ¢1: X —- RO

g1(z) =w —x1 — X2

obooobOoboooooboooobooooonoo

max u(x)
rzeX
subject to  g1(z) > 0. (3.33)

00000000000 XO0OoOooooooooooo (333)00ooooooooooooo
0000000000000 0000000000O00U0OO0O0oOUO0OooOOOoUoOo (3.33)00
gooobobooooboboboooobooooobobooooboobooobooboboooon

ooo0Oo 3.13. 000OO0oo0ooog

my
subject to gi1(xz) >0,
g2(z) = 0. (3.34)

000000000000 (332) 000000000000 ¢2: X —-RO0OOO0O0ODO

0000 3.14. 0000 31300000000 (3.349)000000000000000O0O0O0OO0O0O
000000000000 (3.32)0000000

3.3.2 0O0O0OO0OO

KOLOMOOOODOOODOOXO RFOODOOOPO REODDODDOODODO f: XxP — R
00 gn:XxP—-R(m=12.. . M)UOXxPOOOOOUOO 2000000000000
O0000pepPUOOODOOOODODOOODOOO

max f(z.p) (3.35)
subject to g1(x,p) >0,
92(1:7p) 2 07
gum(z,p) > 0.

ooooo

00 (3.35) 0000000000 p0000000000O00OO0OOUOOOOOOOOOOOO
oooooooooooooo POOOOOOO0OO0OO0OOOOOOOOOOOOODOODOOODPEP
0000000000000 (335 00000000uoooooooouoo

3.10 OO (Policy Function). 000 pe POOOUOO0OOOOODOOO (335000000
0000000000000 0 POOOOOUOO0OO0e:P—-X0OOOOOOOOa(p) O Policy
Function 0 0 00O

3.11 0O (Value Function). Policy Function 000000000000 b: P — RO

O000000000000b(p) 0 Value Function 0 000
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obocooOobooooobooboooooooo

3.1700.000000p* € POODOOOOO0O0DO000000 (L,A,...,Ax) € REXDDOO
O0«* € X000 (3.35)0000=0000000000000000000000(L+M)x(L+M)
oo

M
v%f(x*up*) + Z )\mvz?:gm(m*7p*) vmgl($*7p*)—r cee vng(x*J)*)T
m=1
Vegi(z*,p*) 0 . 0
Vegm (z*, p*) 0 0

000000000000 0DO0O00D0p 00000000 Q Cc POUODUOAOPolicy Functiond
a(p)0 00 Value FunctionO b(p) 00 QU O OO0O0OO0OOOODO

Jlr000bo0o. obobbooooooon O

3.1800 (UODOUO0). D0U0OOOp e POOODOUOOOOUOOOOOOOOO (1,A1,...,Ak) €
RiiKDDDDD x*e X000 ((335)000000000000000000OUDO0ODOO0O0OO
Policy FunctionO a(p)0 O O Value Functiond b(p) 000000000000 OOOODO

M
Vb(p*) = Vpf(@*,p") + Y AmVpgm(z*,p")

m=1

gooooo
.30 0000000000, 0b0ooO0ooooouobooiobooooooooooon
VpeP: gnlalp),p)=0, m=12,....M
0o000oo00oooogp0OOD0Op=p-O000000000O
Va.g(x*,p*)Va(p*) + Vpgm(2*,p*) =0, m=1,2,...,.M (3.36)

0000(@3.36) 0000 N\, 0000mOO00O0O0OOO0OO

M M
S A Vagla® p)Vap?) + 3 A Vg (a®,p) = 0 (3.37)
m=1

m=1

000(1,A,..., k) e RIE D00 2*e X0000000000000000000

M
Vel (", p) + Y AmVagm(a™,p") =0 (3.38)
m=1
000 (3.33)0 (3.3 DoOoUoO
M
—V. f(z*,p")Va(p*) + Z A Vpgm (2", p*) =0 (3.39)

m=1

0000 O Value Function 00000 O
Vpe P: b(p) = f(alp),p)
000000000 p00000 p=p*000000000
Vb(p*) = Va f(z",p")Va(z") + V, f(z", p%) (3.40)

00 (3.40)000 (3.39)00000000000000000000 O



